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Total 100 points
1. (10%) True or False.
i. Contiguous memory allocation may cause external fragmentation.
ii. Contiguous memory allocation may cause internal fragmentation.
iii. Paging may cause external fragmentation.
iv. Paging may cause internal fragmentation.
2. (10%) What is USB in a computer system? What advantages does the USB have?

3. (10%) Convert a decimal number, -33, to a 2’s complement binary number. Note: the
length of the binary number is one byte.

4. (10%) What assumptions do you need for using Bucket Sort?
5. (10%) Describe IP-in-IP Encapsulation.

6. (10%) What is Context Switch?

7. (10%) Compare assembler and compiler.

8. (20%) Please explain why the maximum performance of comparison sorts is
O(n*logzn).

9. (10%) Visit all nodes in the tree below based on preorder traversal. Show the
sequence of visited nodes.
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